Multiplication d’'un Binome par Deux Trinomes (H)

Simplifiez chaque expression.

1. (78 4 95) (=95 + 95 + 55)(—4s* + 65> — %)

2. (8h? + h)(3h° — h* — B®)(=h® — 6h* — 6h?)

3. (22° — 224 (227 4 62 + 5) (42" — 42° + 727

L (922 — 32) (52" — 62° 4+ 92%) (=722 4 82 + 4)

(7¢* — 4¢*)(9¢" — 8¢* + 4¢*)(¢* — 3¢ — 4)

Ot

6. (=8f° —4f) (=31 + P+ 4f)(f* +8f +2)

7 (2t — 92%)(—32° — 42t + 2%)(—32° — Tx* — 22°)

B =2fT =3 5B+ T —4f)

08

e

. (69" —4¢°)(¢° — g" — 79*)(7g° + 8¢" + 3¢%)

10, (9t + 263)(3t° + t* — 4%) (2t — 2% + 5t)
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